7T gTd

pO0000000O0O0OGF(p)00m—-100000000000000mO0
0000000000000 000000 GF(pv)boooooo

GF(p™) : GF(p)ODmOOODOO

GF(p) : GF(p™OooOQd

00 17 00000 p0000000mMOOOOOGF(p)DO0mODOD0OO0OOO
ggon

(0oooo)
0000000000000000000000000

03000000p0000000000GF(pm)DOOODOO

000000000000000000000000000000000000
0000000000000 GF(6)0 GF(12)0000000

7.1 O0O0o0ogd

GF(4)00002000000000000000000000000mO0
0000 p(z) 000000 GF(p™) 00 z000000000000a0000
00000 Ry [p(z)] =000 p(e) =000000000a00000 p(z)00
000000000000

(0) GF(2)000000 p(z)=2>+2+1010000 «00000GF(4)=
{0,1,0,04+1}0000000000

ala+)=c’+a=(*+a+1)+1=0+1=1

0000000 Rywla-(e+1)]=1000000

GF(p)00 mOO0O000 p(z)0 10000 «00000GF(p™) 000 aO
m—-10000000

ap + a1+ azd® + -+ + a1 (a; € GE(p))

00000000000000000000000000000{1,a,---,a™ '}
0 GF(p™) 0000000000

32



GF(p™) 00 ap+aia+--+am_1a™ 0000000000000 GF(p)00
mO000000 (ag, a1, ,am1)000000000000000000GF(™)
0oooon

(ag, a1, + -+ a1 ) + (o + b+ -+ + b1 @™ 1)
= (ag+bo) + (a1 +b)a+ -+ (am_1 + bp1)a™

gogbbobuoooobbbuoooon

(a07&17 e 7am71) + (607b17 e 7bm71)
- (a0+b07al+bla'“ 7am71+bm71)

ggbogbbbuogobbouoooobboooobobboo
O0O00O0OGF(pm)D0D000O0O00OGF(p) 00O mOODOOOOO0ODODOOO
gogboog

(0) GF(4)={0,1,0,0+1}000 {1,o}0000000000

goooo |goodgdad
0 (0,0)
1 (1,0)
a (0,1)
a+1 (1,1)
T
gd : 1«
7.2 0O0O0OO
godoooobeeggong
a® =1
at = a
a = d

000 (i;))00000000000000 #0000~ =100000000
¢=1000000000000000e=1000000000 0000
(order) 0000000001L,q,---,e'0000000

00 1 GF(p™O000000000a#00
"t =1

33



O0000000GF(O00OO0OD0OO0OOO
fla) =2 =1

ggbooboboogn
O00aeae GF(pM),a#2000000e«0000p"—-1000000

(00) F=GF(p™) 000000000000 FXO0000
gogoog
a-F ={aclce F*} = F~*

O00o0ooboobO0obOda,b,ce FXOOOb#cOODO
ab#acO0000000000O0ODOOO

m_
[e-I[ae-o 1
ceF'X ceFX T ceF'x

] Fooon
Foooogonog

m_1

=1

aP

O000deg f(x) =p™ 000000 f(x)00000000p"—-10000000
|[F*|=p"—1000000F*0000 f(z)=000000000000000
ggn

a00O00 kOO0

P —1=nko+70<r <k
000000000 '=10d =100
1=qaP" ! = gkotr — (ak")”-cﬂ":ar
00000000k O000000O0r=000000p" —-1=nke0000
00 18 GF(p™ 0000 p»—100 400000
GF(p™) ={0,1,8,5% -, 6" 7%}

oobooooooopgibooboooopboboooooooooooooooDn
gogbobobooggod

O000000GF(p™O0000000 00000000000 0OO0O0O0O
0000 GF(mOOO0OD0OO0OO0OO0O0oooo

34



(0) plz)=2+2z+1000100 0000 GF@4)={0,1,0,a+1}0000
000002 =a+1000 GF4) ={0,1,0,0?} 00000000000

d=c’a=(a+la=c’+a=1

UibbDeb0b00O030000ab0000000OO

(00 18000) 0000 p(r)=2'+2+100000000 GFHOOOO
000000000000000000000000A=2-1=1500000
D000 hR=3x500007%-100000 GFRHY0O0010000p(x) =0
000100 00000+ —-10000000000

B =a? = ad(#£1)

000003 =()P=a%=10000p30000 1500000000000
oooop, 000030000
0000002°-100000 GF2YOOODOODO«OOOO
(FaP+1=(a+)px)+a®+1=0a+1)
Bp = a"® = a’(# 1)

00000(B)P°=a®=1000040000500000000000000
g=p000000000000000p000000100010000000

B = a°-aP=ab+#1
o ) =05 #1
B = )’ =0l =0 #1

O00pO0b00O0 1BOOOODOODOOO

35



